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Read the following instructions carefully before you begin to answer the questions.
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IMPORTANT INSTRUCTIONS
This Booklet has a cover { this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the bocklet cover carefully 1o open the hooklet. Then proceed to answer the
guestions.
This Question Booklet contains 200 questions.
Answer all questions. All questions carry eéqual marks.

The Test Booklet 1s printed in four series e.g. or (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the candidate gets series booklet. he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows : .

[A] R B11cI1(D)

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write' your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

You will also encode your Reéglister Number, Subject Code ete.. with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A). (B). {C) and {D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel- that there are more than one correct
response, mark the response which you consider the best. In any case. choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you

-in the Answer Sheet.-

In the Answer Sheet there are four brackets [ A]J[ B )1 C | and [ D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each guestion in the Question Bookiet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. I for any itern, (B} Is the correct answer, you have to mark as follows :

(A1 (c1(D]

You should not remove or tear off any sheet from this Question Booklet, You are not aIlowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Bocoklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

For Question Nos. 1 te 100 in all matters and in cases of doubt, the English Version is final.

Do not tick-mnark or mark the answers in the Question Booklet.

{ TAMIL VERSION OF INSTRUCTIONS 18 PROVIDED ON THE BACK COVER OF THIS BOOKLET ]
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Quoeneurent gy Gemd HETH dhs  ubHhemeder cpeb .gsmg; Cadlu
s®HSHgHe@en uFilermt 2 )

A)  Pesrues B) spseuGurdlel

C)  apbprws D) seadlere.

In which newspaper did Maulana Abul Kalam Azad propagate his nationalist
ideas ?

Al | Neeldarpan B)  Tattvabodhini

C) Mooknayak D) Al Hilal.

‘Gbal Cadlusdler wpaumd Questnet aery e PsHeiLEHLUaT 2
Al sGprgliel pry® Bl LwaLt. (wisen sl Ginilig

C} L&, ol Quea. D) Syrumi,

Who was called "Grand old lady of Indian Nationaiism" ?
A} . Sarojini Naidu B} Dr. Muthulakshmi Reddy
C) Dr. Annic Besant D)  Meerabai.

Simweord  wyhalst ymoand sbhudui, saldbgydsaid Csdag ST
UPEHHDTE @ihhedl s blelldgh ariniub

A)  walGoaane B)  abugmomuemsid
C)  Quiiuugrewid D) Seluderd.

The cpic which describes the custom of making the newly marriced couple to
start their life on their own in a separate house is ‘

A)  Manimegalai '~ B) Kambaramayanam

C) Periyapuranam D}  Silappathikaram.

Fpdaco_supmish Hydus sl Masefie abe él’_L_l'JLfﬂrﬂsq 1976 & @ubplul L -

42 b sl L Fpsssdlar cpab Bhdu ydlud ¢ L sdle Corsain L g
A) oyrélud el fley 50 B) odlud e Ifley 13
C)  orfwé sl Sifley 51A D) epdlue sl ey 272.

Which of the following Articles was inserted into the Constitution of india by the
42nd Amendment in 1976 ? ’

A) Article 50 B) Article 13
C) Article 51A D) Article 272.

F 1322 . x | 10002 J [ Turn over
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4
1857 b cgﬂ,c'do‘r@\ Yyl dllies gredidl prest) elall urewg Cemhay deeur 7
Al genug) sesteTed B) setud) fev
C) senud) alévsss D} seud) e ané Crre.
In 1857 Revolt, Rani Lakshmi Bai of Jhansi was defeated by
A) General Anson B) General Neill |
C}  General Wilson D}  General Sir Hugh Rose.
Qe @ibdluralics, CameaL wemy eraiig
A)  TDUP GITDE B) CGubharhm @em_ypiest
C)  galjores seliywud D) prrQeusvi it
In South India. the summer rains are known as
A) mango showers B}  western disturbances
C) violent local storms D) norwesters.
Quimmeiwelesr agraifl eueriédlemws seoon_Hlwd LwesTLED sfwrer gymed)
A, aesc il sgred B) Ourpseé syra
C) st @& syna D) wa®.
For calculating the average growih of economy, the corrcet mean to use is
A) Weighted mean B)  Geometric mcan
C) Arithmetic mean D) Mode.
anyuuTalest Syflaeon. uGdaamer (peplug poedld oyiey Gelgeut
A) @i, EDEST DITITE1peD B) asaiitanmo
C)  wargd efeurt D) Yoy sré@Geud.
The ruins at Ilarappa were professionally examined for the first time by
A) Sir John Marshall B)  Cunningham
C] Mortimer Wheeler D) Bishop Caldwell.
eIt eTetoTementt sevor@Ull
29, 40, 53. 68, .....
A) 76 | B) 85

C) 90 Dy 92,
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10.

11.

12.

13.

5 GSIX

Find the missing number :

29, 40, B3, 68, .....

A) 76 : B) 85

c) 90 S |

geuGlurdl Nflaor Nesr apodb Heolds0Cund QeuefSLmers e er 65T
<460 p&elLBEDE). | |

A)  Quoer Upd | B)  eues digdl

C) sgeu g 'D)  sheredls Syl

The output‘obtained using computer printer is called

Al soft copy B} hard copy

C) print copy D) terﬁporary COpPY.
HCrCfedt refug .o aredp Qurg@elles urellot sy@o.

A)  &QerrGminfedr B) eQerufer

C)  oGemiyr GLer D) pCerGiLsGL .

Neoprene is a polympr of

A) Chloropfene B) Is.oprene

C)  Isobutane ‘ D) Isopentane.
@ibslwuraliey qpaest (f,og;‘emrrea g Blesr Bleneowid Hemwhs )L
Ay pGymgm - B) seurdasd
C) Srgagf D} envser.

The Indian first atomic power station was built at

A) Narora , : B) Kalpakkam
C) Tarapur . D)  Kaiga.
yboIGrTh Gedeal Ufisgmny 2 sayb Gled augeud

A efur Gurep @;@LDL‘JL{ B}  eulL. eugeud

C)  Sephebn augeub D) Sgdu angead.

10002 | Turn over



GSIX S 6

Identification of cancer cell, based ‘on the cell morphology depends on the cell

shape
A) Amoeboid B) Round
C) Irregular D}  Ruptured.

14, Qecedle ‘o hme LGH' e o Pp&HeuLGas)
A ushsash B) | pHlysefue
C)  aaunGLretmeneusmen D)  ew GLrametor fwr.
Powerhouse of the cell is
A) Chloroplast . B) Nucleus
C) Endoplasmic reticulum D}  Mitochondria.
15. &pecuieupnet @hdu rflueemvidlar 7 aug oL saeamdler ug  wrhle
27enheSHer 6L 5HD@ 2 L.LLTE HeOD T8 ?
Al @wsdeorssrer alene Hif awTwid B) amdlaalr
C) 7 suenid D) Seteuenhd.

Which of the following is not a listed subject of the State List in the 7th Schedule

of the Constitution of India ?
A) Rates of stamp duties B)  Banking
C) Water ' D)  Fisheries.
16. @ndu Caélu Guramcusdle orandl prasll oL ilflelbe s audgseurt
A} elsbd Qead B} el &furd
C)  oyevrallGsesor D) Quab amsurs emre.
Who hcaded the Jhansi Rani Wing of Indian National Army' (INA)?
A) Lakshmi Schgal B} Lakshmi_.Bai

C) Annie Besant D}  Begum Hazrat Mahal.

x [16002
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17. ulguwé I ( sblprmige 2 efer Bitalpéflacmen ), uilgue I ( el sgr o Sygen
LTl L H0% ) CurEsd, &8 Qarhesiu Psier GHlUiPamans Qoran@ aflumer

e ows CarpOsd

a)
b)
c)
d)
GOlSPaer ;
a
A) 1
B) 2
C) 3
D)y 4

ulique I

sBPBTR Bireipé
Qeusiiaht Biraijpsdl
Sibuyiy Bialps s

smen Biralpsdl

Sjeeuglur BireSips &

4
3

2
1

d
4
4

1

2.

ul g wee I
@il biomeul L s e
1. Srponataed
2. QGgel
3. depssc
4. aeaatur@b.

Match List I ( Tamil Nadu waterfalls } with List II { Locations/Districts }
correctly and select your answer using the codes given below :

Tamil Nadu Waterfalls

a)

b)

. )

d)

Codes :

A}
B}
C)

D)

x 10002}

oW N

Silver falls
Thirparappu falls

Suruli falls

List X

Agasthiyar falls

3

e}

NowWw N

N )

List I1

Location /Districts

Tirunelveli
Theni '
Dindigul

Kanntyakumari.
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GSIX 8
18. Ulareumin yefrefl aﬂmgg‘,gﬂa‘ﬂ gl (R& grmaf
8,10, 9, 6 whmid 4
A} 72 B) 74
C) 82 D) 70.
The mean of the followiﬁg data
8, 10, 9,3and 4
is
A} 72 B) 74
Cy 82 D) 70
19, Quibssawrs Sl sebh guut abs Qurpeiiss LTelnT @b 7 |
A)  uGymiSes B) . sGeaurifes
C) o°ourrr'rmrr6‘oLqLeﬁ)gD® D)  coldermey.
Natural rubber is a polymer of
A} propene B)  isoprene
C) formaldehyde D}  phenol.
20. @UYEHsSTE Gl Seben 2 oallle salllurears @&w@u@mgj
A) Hemr B)  wenppiv
C) &6 B D)  dlewrpmy BI.
Which is used for moderator in the homogeneous nuclear reactor ?
A) r;eavy water B} Rain water
I C) Sea wéter D)  Well water.
21, egymil® geopam CewuauBudla alemeralns 2 (peuTeug ?
A) =88 eﬁmr’réé] ‘ B} &Qylygeafsn
Cl  parewdas spoew D) iflfey.
What is the result of hypofunction of Thyroid ? |
A) Gigantism B)  Cretinism

<) Goitre m Diabetes.

x 10002 |
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eosrmi® erididlemnd o maurssuudd oaCrr sradll GLreflar wexl
A @rsssdie sradugdsn oerameus @Dl |
B) @rsssdie sradlusheasr setameu odefiug
C) _(Bsrnq\ul'n Siweilamaer Glodgus@sT ClsusgashE
D) - Gsmgud swellsmoe CgodaNddm CeouefiCu SiIiLaushe.
What is the role of thyrocalcitonin produced by thyroid gland ?
A) Decrease blood calcium concentration
B) Increase blood calcium concentration
C) To Vmobilize sodium ions into cell
D) To mobilize sodium ions out of the cell.
qééé]usﬁor@;ﬁn HTeUTHEDG pf 2 {jeoond
A) _/’@p‘;urjgg,efu B) GeoriliLev
C) | NG D}  eanllevasn.
An example for insectivorous plant is
A) Nepenthes B) Lotus
C) Ruscus |93} Hibiscus.
Qemeimemaunpet aphs qan saljaursgos efiiusbarar ydu sa L miél e
QL&D ?
A Cadlw 1evermiie) Hpjeusstd
B}  epetidiu Yevesmiley Hlmieuesiio
C)  Se0uLge olfBym oy oLt Gettleuauig Gaayest
D) sl dl yeveimiey Blmeuesid.
Whl(:ﬁ of the following is a new federal agency to combat terror in India ?
A) National Investigation Agency I3) Union Investigation Agency
C) : Federal Bureau of Investigation D)  Federal Investigalion Agency.
‘HeETE alyi aar yepsHetu@d hSlGau seairareny @@L’Jﬁ@&: 7
A)  @uruirl Hlenereis B) CGameuig e

C)  asryeTeuredlsn D) Oeauhevenedl.

x [ Turn over



GSIX 10

The British Governor who is called "Knight of Arcot’ is

A) Robert Clive Bj) Hastings

C) Cornwallis D)  Wellesley.
26. gdlseney umsd almeald@h wraw L b

A)  Qubueyri ' B)  almampait

C) QGoad . D) wger.

in the following districts, the largesi cultivator of cotion is

A) Perambalur B)  Virudhunagar
C) Salem D) Madurai.
27. ey SerSHedt 2 Wb e B, G1D.
Ay 23528 B} 26524
C) 24424 D) 23334

The height of the Anaimudi peak is
A) 2352 m B) 26562 m
C) 2442 m D) 2333 m.
28. Qunmettgnysdlen ‘Hlay wHiny aeug
Al sLgd, urgsTuy Hldluybd
B)  whHld s_gib SPerhe SLE LHHTHSEHD
| C)  uhiE (peges b, UTgsriy Hldlub
D) Uk pesaTpd adl Hl_gub.
'Net worth in an economy refers Lo
Al Borrowed capital and reéerves B) Loan from bank & Govt. bonds
C) Equity capital and reserves D}  Equity capital and bank loan.
29. @Gpdlurale poe payrldhrs Gediaearenn 2 (halrsalu 96
A) 1687 — 1688 B) 1726 — 1727
C) 1882 — 1883 D) 1886 — 1887.
The first Municipal Corporation in India was set' up in Madras in
A) 1687 — 1688 _ B) 1726 — 1727
C) 1882 — 1883 D) 1886 — 1887.

x | 10402 301
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67 & & 65 60T '&gseﬁg_, @Epﬁscig, w&&LCsrme oenl L &5 5516 (SO DELIT 60
SjeuBuFIDTTser 2
A 10% B 7%
C} 3% : D) 46%.

What percentage of child population is suffering from malnutrition ?

A) 10% B) 7%

C 3% D) 46%.

veGeun  prenfleers  sridlseerd SLENUESED  eUGTERTD UG SHWITET
QeuaLrPamers Oaremgmuuses  gluestller ‘soeoens aridl' e
2P &HE LI

A)  @srTL® B) Sefue syl

C)  Niyred D}  egwev.

Which gland is called ‘'master gland’ because of the multiplicity of its functions
coritrolling many of the other endocrine glands ?

A) Thyroid : B)  Pineal gland
Ci Pituitary D) Thymus.

uiguée I g uiguéd II i Quigsd, dCp Car@éeiu orer @lldbaeens
Qareo(® efure alenLows CasThs® :

- igwé I ' Ll igués 11
a)  Pireump smeurib 1. @Qsﬁa@mrr
b)  supeifled smeurd 2.  eumesiLm
c) @L@G&ﬁcwﬂg'; STeLTD 3. oap féer
d) Qarpps sTeuFD 4, sevELIT.

GolEser

A) 3 1 4

B) 2 3 4 1
C) 4 3 2 1
D) 3 4 1 2.

X [ Turn over



GSIX . 12

Match List I with List H correctly and select yc_iur ariswer using. the codes given

below :
List 1 " List IT
a) Hydrophyte 1. Opuntia |
b) Xerophyte 2. Vanda
c} Parasite 3. Hydrilla
- d) Epiphyte 4. Cuscuta.
Codes :
a b c d
A) 3 1 4 2
B) 2 3 4 1
c} 4 3 2 1
D} 3 4 1 2.

33. aps - oeedlsss  erpevssne  Heorsser  srowlles wdlbs GOl
WwH&sILHHEDS) ?
A) . wdlphdle egpHemen B) wdlwhdler gLRearyre
C)  ylbume D) aTevenuTd.
A car accelerates on a horizontal road due to the force exerted by
A) the engine of the car B)  the driver of the car
C) the earth D)  the road.

34, gead Cal@uGumpon o fowvsslcgdar uvg Dereumeuaicuppier alewss
SeMGaHILL TS ere 7

A)  priger urgsTiy QgmfureT gaeid&el

B) Swenrl@ Syrsllbd QuDLLLL geHedse |

C)  efwrumy Fedun ‘

D) . enoésrenel Gele aRSsiulL Py oy
Which among the following is not exempted in RTI Act ?
A)  Information related to National Security

B)  Information received from foreign countries

C) Business secrets

D) Decisions of the Cabinet.

x 10002 ]
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35. saifytrast s lifigss sowb g ?

A) @G euild B)  emeuemieuld

C) & DSTD _ D) yss swwb.

What was the religion practised by the Kalabhra;«‘. ?

A}  Saivism B) Vaishnavism

C) Jainism . D) Buddhism.
36. gD e Quriflyd sabg asGLDD Hen s QU ereTes 7

A)  wevewTend B &fGure

C)  wesfiuliyeurennd D) gign.

The style in which Tamil and Sanskrit mixed is called are

A) Malayalam B) Creyole
C‘) - Manippravalam D) Thulu.
37. 1923 & sauyrgHu s dew @@mﬂmmﬁasﬁ .................... 26U,
L 3. ). Slevss
. orev. 8. Gumreiv

L. 8. sy, gmev
V. QGurdlewrer Crm.

@leurrs@nel :
A)  lwpgb NI sfwrereney B) Tlupmd IV eflurearene
C)  IMwbgd IV sfurerene D) I wppo I sfuraree.

Founders of Swaraj Party in 1923 were
1. B. G. Tilak
. 5. C. Bose
III. C.R. Das

IV. Motilal Nehru.

Of them
A) & Il are correct B) & IV are correct

C) 111 & IV are cotrect D} II & III are correct.

x [10002] [ Turn over



GSIX ' 14
38. Uletreumuenteuibmier silpe uphigy et cumalaray Cayrasui wurk 2
Ay Ggmf B) mrad
C)  @@mbur . D) uethuer.
Which among the following does not belong to Tamil Nadu Tribal Community ?
A) Thodar - B} Nagas
C) Kurumbas D) Baniyan.

39. sadiell gpelgdlonia Lgullseuu@b asgamg ( Refresh rate ) syl Lwssu@id

NG
A} Osené B) men
C) Qeabiilev D) uwml-dllé.

~ The refresh rate of a monitor is measured in
A) pixel B) bit
C)  hertz . ' D) dot-pitch.
40. 12345, =7,
A) 83578125 B) 83-875215
C.] 83-578125 D) 8357-8512
123 - 45, = 2,4
A) 83578125 B) 83:875215
' C) 83578125 D) 83578512
41. Oesteumd eetoraaliey erhe eressr 4-%6'\) m@u@fn ?
A) 67920594 B) 618703572
C) 719202526 D) 926530222
Which of the following numbers is divisible by 4 ?
A) 67920594 B) 618703572

C) 719202526 D) 926530222

x [ 10002 |



15 GSIX
42. mw@s\:ﬁ)é]a&'r oo, CaaCopel uedlle srapaLsdid LT GepaTs
2 cengl. gOaailc
A)  Gopaure Qgmfleplu auentéd
B) sTQROLSEH&EEG THHLOD &DNIEE: P Hlemew
C) umes wpHoib ure GCluTHLEEESHTET GenpeaiTea Goavel
D)- &GN GemeUTes euUThGD SHmedt.

The distribution of cattle is low in the dry south-western part of the state
because of

“A) low technical development

B) unfavourabhle environrﬂental condition for cattle

C) low demand for milk & milk products

D)  low purchasing power of the people.
43. @ueorLmd 2.evatt Guirt gieunidlus Hreir

A) 1 QelLibur, 1939‘ ' B} 1 @elLburi, 1940

C) 1 @sLbur, 1941 D) 1 Qs _burr, 1942,

The Second World War began on

A) 1st September, 1939 B) 1st September, 1940

C) 1st September, 1941 D) 1st September, 1942,
44. ghipprige, ehs %G&ﬂ@ Bletremy 2 pubdl S HDUNGSOULL G 2

A) 1920 B) 1900

C) 1940 D) 1911.

When was the power generation started in Tamil Nadu ?

A) 1920 B} 1900

C) 1940 D) 1911.
45. s Q@riiures epaTeId Gl Ppehédu Cpréd

A) P& gleopsea 2 eiien 2e1ped

B) sdlsgeanules 2 afrer senpe

C)  e_ciemm & oyasdila o eer sepe

D)  saal Binsuaibsellce 2 eier 2emipe.

X { Turn over



GSIX 16

The main focus of Santhanam Committee on éorruption is

A) corruption in Government departments

13) corruption in Judiciary
C) corruption in local government
D) corruption in educational institution.

46. Uereumeuameupper Wenanyd sLsgd Spedr Qeran, urelumse ahssssT LTS

lapaug
A} uredl &riruGes B) ured ellemerér gCenreny(®
C)  umedl o8 g efetr D) umell evemi_iFebr.

An example of conducting polymer is
A) polycarbonate B)  polyviny! chloride
C) polyacetylene D)  polystyrene.
47. sfgnésacdm; T SALEEeTs SHeaeh :
gapml (A) ! €UGTOIL €V LDGHOT eT60TLIG) EUETTIDIT60T WDETaT

sagewoid (R) : Seoeu  @pby, ereélub, sevemmby, Owsefdlud  whHob
QUL meiy ©\aretoLemel.

FCY @R @eer @O ge efurer el _sows Caibs®
A) (A) wHmDd (R} @yesorHid &)

B)  (A) whpid (R) GemBd seup

) (A) Beum), e (R) gift

D) {A) afl, gyenée (R) Beu.

Consider the following statements :

Assertion (A) :  Allavial soil is fertile soil.

Reason (R) : They are generally rich in iron. calcium, lime, magnesium and
potash.

Now select your answer according to the coding scheme given below :
A) Both (A} and (R} are true

B) Botih (A} and (R) are faise

C} {A) is false, but (R) is true

D) (A} is true, but (R) is false.

% [T000Z) |



17 GSIX
48. eunenCam_smom @5é\mnmﬁ\§)@ UbG &I
A) 1495 B) 1496
Q) 1497 : D) 1498,
Vasco da Garﬁa came to India during the year
A) 1495 B) 1496
C) 1497 D) 1498

49,  sLHUDL & Hevsd B OQUDD Iy &@

4  Sugefl, 1946 ~ B) g, 1946

C). meubur, 1946 D) ge&buir, 1946.
Naval Mutiny took place on ’

A) February, 1946 B} March, 1946

Ci November, 1946 D)  December, 1946.

50. &L Gy eusietasemen ubPs CaTG&sHé snnib HTE
A)  HeQauws sapPlmpeas B) ghdleer aapug
C) mhidlereos D) Hpuremmrppiiuent...

The Sangam Literature book which compiled about the “Kadai Yezhu Vallalgal
( Philanthropists ) is

- A)  Thiruvezhu Kootrirukkai B) | lymthinai Ezhubathu

C) Natrinai D)  Sirupaanaatruppadai.
51. e®n @bduallar sor aupwreDd et ?

A) $ 1040 B) $370

C) $250 D)  §560.

What is the per capita income of an Indian ?

A) $ 1040 B) $370

C) $250 D)  §560.
52. wrfle Hifeurs riiurusdler samacusny Blullliug

A) gysgmmmé&r‘r

B) wrple gEbbit
e C) GlQuUrsH Semeoeur -

D) e wigdodansdlar senmeio SIS

x [10002 ] 301 : o ' [ Turn over
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18

The Chairman of the State Administrative Tribunal is appointed by the

A)
C}

Chtef Minister B}

President D}

Governor

Chief Justice of the High Court.

53. @urGembdly Compsr GlsuaiTy SepeHslLGHDTT 7

A)

C)

Cagermhger B)

#Layh Q&L mer - Dj

Rajendra Chola was known as

A)
C)

54. wHQesmesipreosg obeTERS S SHler arebd

A)
C)

Keralandhaka B)

Kadram Kondan D)

2004 — 2009 B)
2005 — 2010 D)

The period of the 11th Five-Year Plan is

A)
C)

2004 — 2009 B)
2005 — 2010 . D}

UTTHSSHT
Sgdlyeryigel.

Parantaka

Chitra Karapuli.

2007 — 2012
2006 — 2011,
2007 — 2012 ' ’
2006 — 2011.

55. Uereumeueieupiley erhs mr® mité ( SAARC ) sal Lemwliilé @)évemen 2

A)

C)

urdleugmest B)

DT GuS &6y D)

L L_FreaT

Blwrestior.

Which of the following is not a member of the SAARC ?

A)
C)

56. Go&® LyhsET GHeaTHSM6 SreoiL@elDespeoT

A)
B)
C)
D)

Pakistan B)

Maldives D)

D{WET LDEBETL_ 69 LS EMLD TDT& Srisel
SWest 6SoT ey Glemaudlt s Hiael

2HEHTD @lemevd ST(Hsen

2 Ll U6t Tl o GlevauuSlité sTRiser.

Teak trees are found in

A)
C)

x [10002]

Tropical Evergreen forest B)

Broad leaved forest D)

Bhutan

Myanmar,

Tropical Deciduous forest

Sub-tropical Deciduous forest.
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57. @ués Senmeviom ereiLig) |
A @ussid - Qs Qedas B) @ussd + Qs Geceet
C) @ussb + &b D) @ussd + oulifiGarrQige.
Blood plasma is
A) Biood - Blood cells _ B) "Blood + Blood.cells
C})  Blood + Serum D) Blood + Fibrinogen.
58. wrlueler sheng eresTLBLEUT
A)  criedles | B) Guetr_é
C)  euromié D) am  Sengei.
The father of Genetics is
A) Darwin B) Mendel
Q) Lamarck | D)  Hutchinson.
59. eaflewe - @LuLwrsdl euenen@ami g et LY .ga@.mg,j |
A Qedmul L Geusmes | B) &b
C) saudaredg - D) 2. hsb.
The area under the force — displacement curve gives
A)  work done ' B) energy
C] impulise . D} momentum.
60. BCyrH eSemanyfiyb Curg S58sar QarGa@h sl
A)  MgC, . B) BeC,
C)  Be,C D) CaC,.
The carbide that produces methane on hydrolysis is
A)  MgC, B) BeC,
C) Be,C ' D) CaC,.
61. Gury UTTeme (peoD TG LUSTLRSSULGSDE ?
Al weaflow afeurb B) s@ebleustr Ly

C) sawdliy dleme allaugd D) @EuewLrd fleme sf]sumb.
F 1323 | x{10002] ' : [ Turn over
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Direct personal observation method is applied in .
A) primary data B}  frequency distribution
C) raw data D)  secondary data.
62. 100 &@efr o een ercuvraefilen gphavpuenL eretorsmetlest anl B Qarens '
A) 2400 B) 2550
C) 2500 D) 2600.
Sum of all odd numbers upto 100 is
A) 2400 B} 2550
C) 2500 D) 2600.
63. srdyhsr Cadlu yheT ahE @{mmg},é«?ﬁm@ 7
A) QjshueruT(nd B}  @Gorrsé
C} Cuheg euhsmend D) i_gjg,gn@&w.
Where is the Kaziranga National Park located ?
A) Assam ‘ | B) Gujarat
C)  West Bengal D)  Uttaranchal.

64. &péscreubper sflure QUTEGSELLLL G agl ?

Al .l s. — &CgeblHyes
B) &Ujnedu feur — rrerGsélhig
C)  urydhum — groreym allswb
D) ewsirgOey hry® — peussd.

Which of the following is correctly matched ?

A) Thiru Vi. Ka — Swadesamitran

B) Subramaniya Siva — Raja Desingh

C) Bharathiyar — Ramanuja Vijayam
D}  Varadarajulu Naidu — Navasakthi.

65. Gsdlu cugores euentéd aSssams Sioraiitug
Al eSSl sumbrar aldsh B) w&sl Qeresl QuUEss aisb

C) 2 hudpdh Qumées aSsb D}  uetiL msiey al&lsi.

x (10007 |
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Rate of growtﬁ of National Income determines
A) Investment-income ratio . B)  Population growth rate
N 63 Production grdwth rate - D)  Consumption ratio.
66. wrbng SoarallaensaTa  HeGHSIOD qé\mgrr’eﬁ- 2 (HeUTHSHLLRUSDE  (pedreonT
a5GaT® G bHEEEs |
A) saals sioon "B)  seps HOHSIOD
C) Qamflss gieon D} QGeuemeveumiis gemn.

Before its creation as a new department, “Department of differently abled

persons” was associated with
A) | Department of Education B) Department of Social Welfare
C) Department of Industries D} Department of Employment.

67. ulgue I & rerser, ulgue I & 2 erer 2 flovura wimasEsL.8T CQUTESSH,

S8y QarPébail Rerer @BHIPsmmansd Qanranp eflurar aloLowug CaibOsd :

uCgwe I Ut gque II
qq&s’rmsfr ¢ flemwwurer L ser
a)  umfl 1. upfhoene
b) Guaer 2. GQurders waow
c) @rﬂ | 3. ugby wenes
d) sy 4. Qardelneme.

eolf@ser :

A 1 4 2 3
B} 1 3 4 2
C) 3 1 4 2
D) 2 4 1 3. | !

x [10002] _ _ ' [ Turn over
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Match List I ( Kings ) with List II ( Hills respective } correctly and select your

answer using the codes given below :

List 1 * List II
Kings ' Hills
a) Paari 1. Palani Hill
b) Began 2, Podhigai Hill
c) Ori 3. Parambu Hill
d)  Aai 4. Kolli Hill,
Codes :
a b c d
A) 1 4 2 3
B) 1 3 4 2
<) | 3 1 4 2
D) 2 4 1 3.

68. ‘wWwseSL{ aﬂ@gmm’ 6T EY
A)  oemus Guwhselldr allhuemer
B Quryg Pneeariseild 2 aier ypdlen kg aﬂ;ﬁ)ueman
C}  pelleuarps GeTfibewohssls albuser
D)  eyyenie GupwhseaeT elurmpseg alibusnear Glelge.
Disinvestment means
A) sale of G.ovt. compariies
B) sale of Govt. holdings in public sector undertakings
C) sale of sick industrial undertakings
D) salc of Govt. companies to private.

69.  Nedteumeueteupmie ergy 5-b sevsupenpd sewilel Qumfl 2
A) Java B)  Informix

C) LISP | D) Ally.

x [10007]
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Which of the following is 5th Generation language ?

A)  Java B) Informix
C) LISP ‘ D) Ally. .
ulgud I g ulgque II 2. dr Qurpsdl, £8P Lar@ssiul Gerer GHlUGsmens
Qeran® sflurer allem_owus Cauinsd :
ULigwes X ULLq.u:Ié) I
( @bl wedsr ) - (epaigh )
a} GLIGTOTL_6v LoadoT 1 43%
b) Geabweto 2 18%
c) a&flad Lnsts‘ﬁ 3. 15%
d) uremeveuest W& 4. 4%.
eoliRaer
a b c d
A) 3 1 2 4
By 2 3 1 4
o 4 3 2 1
Dy 1 2 3 4. _
Match List I with List 1I correctly and select your answer using the codes given
below : ’ '
' List I | List II
( Indian Soil ) ( Percentage )
a)  Alluvial soil 1. 43%
b)  Red soil 2. 18%
c) Black soil 3. 15%
d} Desert soil 4. 4%.
Codes :
a b c d
A) 3 1 4
B) 2 3 1 4
CJ 4 3 2 1
D) 1 2 3 4

x (10002 [ Turn over
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71. &Qsd prmall sl Hipeusd QaTLRSULLL. 3| e0H
A) 1905 B) 1906
C) 1907 | D) 1908
Swadeshi Steam Navigation Company was started in the yef;n'
A} 1905 B) 1806
C) 1907 D) 1908.
72. Hils@weoe ahg slLsder #Gi memdludl Hluwend Qedeurt ?
A)  Sdlue sreersdler 256-b Nifley
B)  epdud srearsder 280-b ey
C)  ordue sreagdlenr 293-b Uifley
D)  opfud srearsdlen 356-b Uflay.
Finance Commission is appointed by the Presidenf under Article
A) 25.6 of the Constitution B} 280 of the Constitution

C} 293 of the Constitution D) 356 of the Constitution.

73. uigqué I g ulgue II 2 L& Qurpsdl. £Cp Qer@ssiul@eier @hluGsmens
Qeraa® sPurer ale_omwsd Carbs® :

UL iquéo T C ulgwe I
a) OQUrss auas 1. B gy eoongigmebr
b}  AQUuHs cuens 2. b <94, G001 I8 LITIq.
c)  AB @Uss euoms 3. oaaumssh Qerheed @rss ey
d) B@rss msmé, 4. swaaflLdlebabd ghed @rss Nfley.
GPlGser
a b c d
A3 2 a4 1
.B} 1 2 3 4
C) 2 3 4 1
D} 3 1 2 4.
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Match List I with List II correctly and select your answer using the codes given

below :
a)
bj
c)
d)
Codes :
a
A) 3
B) 1
cy 2
D) 3

List I

O-Blood group

A-Blood group

AB-Blood group

B-Blood group

3

1

4

2

1

4.

List II
Antigen B
Antibody b
Universal donor

Universal acceptor.

74. Lgmete L whmin et sapibleiig epfevid er@TiiL@eus)

A)

C)

According to Brdnsted-Lowry, an acid is

A}

C)

75. dpsergmid Coreselle eabs Gomg Geuliu

q@qrrl'_l_rr%&r auPBIGLD

STEUELITITEN eUIpRiGLD

a proton donor

an electron donor

PoHBISTETG ?

A)
B}
C)

D)

x [10002]

UCymliLrmed er(RGgis ClomeiEsh

sTeudL Tt aTRSEH ©\BTeTEhD.

a proton acceptor
an electron acceptor.

emal@ whgh wdilds seral®

LTErs eerai® whnk peedud eury eralh

- Qesndluey sene® whnib ursrs HeTal®

Qlesflusy eenal® whmid peelud eury el

Bévetlwes sumy SieneS®h whpd seNée sevalf.

{ Turn over
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In which of the following pairs of temperature scales the size of the degree is
identical ? ‘

A) Mercury scale and 1deal gas scale
B) Celsius scale and Mércury scale
) Celsius scale and Ideal gas scale

D) Ideal gas scale and Absolute scale.

76, &Qp Qar@ssuulferen sl  wIT_@sder ppossmpsee  Guerdée
SigtueL e BB 7
A}  ooplymer, L bellge, Sfted, CO,
Bl  yiser, CO,, flurer, g &edige
) CO,. Buresn, g&edlgett, gy iae
D) luren, suébedlges, oyraer, CO,.
Arrange the following constituents of the atmosphere in dominant order :
A)  Nitrogen, Oxygcﬁ. Argon, CO,
B)  Argon, CO,, Neon, Oxygen
C) CO,. Neon, Oxygen, Argon
D)  Ncon, Oxygen, Argon, CO,.
77. | Sereumeneteuppet erg wéaselles Gapaamer GaemausheHreT L LsTamD Sdeme 2
Al goulauGuer B) Gamrdurd
C) Carssyssr D) Qednemt Guri@.
Which of the following is not a device for redressal of the citizen's grievances ?
A}  Ombudsman | B) Lokpal
C) Lokayukta D)} Censor Board.
78, GLL QUTBIOGISE veovrrerrrronnnenns 6 DFERT GO eresTwefSHIILL LS.
A) Guw, 1799 B) g®ees, 1799
C) 215G mut, 1799 D) meubwm, 1799,
Kattabomman was executed in |
A) May, 1799 B)  July, 1799
C)  October, 1799 D) November, 1799.
x (16607
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79. CGue sevudley 2 punileiyrs Carb@sRsslu L. e Cueamoes

A} OuresiaTbwre B) L&l pigiel sl Qg

C)  aGyredlet cuyslied D) Qeeapdlgr emaersd.

The first woman to get nominated for Legislative Council is

A) Ponnamal - B}  Dr. Muthulakshmi Reddy

C) Sarojini Varadappan | D)  Soundra Ka-ilasam.
80. wGandiyaioeme eauslGubp weseldr  sbLWE  ETTEW  HAOSHEFHEULIL

THSHHHSHTL ([N Hrey

A)  ybyedlyt mr_stb B) Gpresong prt.sb

C) wsgelersl SysLeod D} g@smbéfn.

The lterary work written by King Mahendravarman describing the peoples’
religious attitude in a humorous way is

A) Poompuliyuur Naadagam B) Nondi Naadagam
C)  Maththavilaasa Pirakadanam D) Raghuvamsam.
81, Ggélu eurdamrent e Sigueflbalu@bD prer
A getef 20 | B) gaaf 25
C) geweufl 10 D) geeufl 5,
National Voter's Day ts observed on
A) January 20 B) Januar} 25
C) January 10 D) January 5.
82. 2010, gebur wrgb Jfalmerew FTETEUMITS HHSULLD, ST S0
auprstiLt L Ghdu Gphos wmssieur whnb wealls e flemw oy Feuet
A) sl Seormwé G edt B) Ga. gl. acmeorymrest
C) owisHur Q&6 D) @euis@per aeumblevane.

Indian Pediatrician and Human Rights activist, found gulilty of sedition and

sentenced to life in December, 2010 is
A) Dr. Binayak Sen . -B) K. G. Kannabiran

C) Amartya Sen D) None of them.

x| 10002 [ Turn over
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83.

84.

85.

28

2010 & Gleré a>a>mr]5§§15b&',rras Qeudlseiler Gualiul L sTHEWTE 2 _6ier wrhleub

A) EOITHT & GouT L B) FLU e &HIT

C)  eflavenr ' D)  Samt.

Kandhamal which came in the news for communal unrest in 2010, is located in
A) Jharkhand B) Chhattisgérh

C) Orissa D}  Bihar.

gpwvdl. @Qbdrrerhdl @pdun Arswrrel usalCubp wmerteufl 24 oib Cadlevw
sblipe oywe &peumeusTeubdiés erghare oy ees Npiiiggeieans 2

A) waeli 2_Mems e Qsmh

B) wadlit Qergaflew Heaib

C) Gpdu Quet Gphegast Heibd

D) CGafdlu Ques @phagser wrhng Spameflact .

“Mrs. Indira Gandhi assumed the Prime Ministership on January 24.” The
government of Tamil Nadu has declared that day as

A)  Women's Right Day

B) Women's Right to Property Day

C) National Girls Children Day

Dj National Differently Abled Girls Children Day.

g;LE]L.p&,&,gﬂe‘u 2008 b oo 2 wi QEmpld mILL Gpsal LRST PHe (PEHETSE
Qam_fksul_{ Luj)ué,é]mu.r QarLkdlyeier @u b erg ?

A)  &mEpdlygh . B) gy

C) udeLb D)  dmeument..

In which place of Tamil Nadu, was Hi-Tech Weaving Park situated and started
production from 2008 ? '

A) Kanchipuram B) Arani

C) Palladam D) Thiruvarur.

10002
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86. ehs BTG 2eter P ahd SHCLTuF 2009 & udieml® 64
Blsuat S B @mha 200 Qulfé Leér gemey ghssomsl Qubpa ?
A)  Ferr | B} @ehes
C) Suasiuygf D) @bdlun.

Central bank of which one of the following countries, procured 200 metric ton of
gold from the IMF in October, 2009 ?

A} China B)  SriLanka
C)  Singapore o D) India.
87. @wdlu faics eudlllesr Semmgerd eflpr oy @@ ergy 7
A) 2008-09 B) 2009-10
C)  2010-11 D)  2011-12.
Platmum Jubilee year of the Reserve Bank of India is
A) 2008-09 B) 2008-10
C} 2010-11 D) 2011-12.
B8. 2010 & seim Coesdlear Gury waseprssrar bles 2 wilu apeosy Gubp
@ubdlureneus Carps ylelluey oyfl@r wri 2
A & sy gmel Bl  wsg@wrt
C)  OQeulislymneT grwdlpeyewes D) egieure @lomr.

The scientist of Indian origin who has been honoured with the Canada'’s highest
~ Civilian Award Order of Canada in 2010 was

A) C. R. Rao B) Muthu Kumar
C) Venkataraman Ramakrishnan | D)  Shrawan Kumar.
89. smu@IGeUn GHTHT] yowsgiraais brpr@ G, 2010 & &G HoLQubDg ?
A) Qgefan B}  egrmsmL
C) wGedlwn D)  mymes.
Where was the Commonwealth Health Ministers Conferencg held in May. 2010 ?
A) Geneva B) Shanghai

C) Malaysia . D)  Iran.

~x[10002] . [ Turn over
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90.

91.

92.

93.

30

2012 oy geogherar Oshe S flw sl ewly eleerwril® GuTLgsel
memL QI 2_6fer @D eTg) ?

A)  Lnésm B) g @Léwell

C}  Geargpby D) Gedoen.

2012 South Asian Federation Games will be held in

A} Dhaka B) New Delhi

C) Colombo D)  Chennai.

. K. algugont spsaramid dmeoLL L sefld, er_égb@ HTOUR SN HEVIITE
Huldsatiul Heiemd 7

A) CRPF B) ITBP

C) BSF D) RAF.

Thiru K. Vijaya Kumar has been appointed as Director General of
Ai CRPF B) ITBP

C) BSF D) RAF.

sreylt Goo u@Hile, ymevl 2010 & Blaphs Geusien Qumsdler amyewd

A @preush e B) CGuaGeuguilar weyp

C) prgCpésd oL hasTd D)  uel 2 pdHlugrd.
The flood of August, 2010 at Leh, Kashmir is due to

A) Cyclonic rain B} Cloud burst rain
C)  Dam breach-out D)  Melting of ice.

Qibdlw  urgrEpLTDHAET LGS FlLpHe  SGuwfss gpardudl  gumor
2_empwrpdw pret 2

A) 5 meubut, 2010 B) 6 peuburi, 2010
C) 7 meuiburt, 2010 D) 8 peubur, 2010.

The American President Obama addressed in the joint session of Indian
Parliament on ' '

A) 5th November, 2010 B} 6th November, 2010

C) 7th November, 2010 D) 8th November, 2010.

x {10002 ,
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S ows Cauflflud oy

A) 1999 . B) 2009

C) 2010 D) 2011.
The International Year of Chemistry was/is

A) 1999 ' . B) 2009
C) 2010 Dj 2011.

gpapaieieuples 2010 b e  G-20  GurBrmenrGLm  Ammg 6

aNeurdlés il L esuger egl

A) sphnsGpe Nyésamarser B) LwASFeNTSD

C)  2.@& eupem D) 2 esaralu Hdlpem.
Which one of the following issues was discussed in G-20 Toronto Summit,
2010 ? '

A) Environmental issues B)  Terrorism

C) World poverty D) Global Financial system.
SPalwe whpd Qurdldlwe sy ( SERC ) 2009-2010 & oifis 2 galeeamen
.................... 26M&Hs 5

A) 2.0 syflefiuc. B) ngerwen el

C) GQurdlilwe oflafiue D}  Gueds oiallue.

Science and Engineering Council ( SERC ) gave major support for ....................
in 2009-2010.

A) Life Sciences B)  Chemical Sciences

C) Engineering Sciences D) Physical Sciences.

&p efuil @erarautsmeliss 2010, 19 aug &L yoamuddleT  sHoaTTSH
LselGupps QaTaeTLsut wrt 2

Al dAm. P.V.Qpluy ’ B) &l A R. @ srloessied

C) #m. K. G. uredlpeinesorem D) Hm. weiveups fema.

Who among the following has taken over as the Chairman of the 19th Law
Commission in 2010 ? '

A) Mr. P. V. Reddy B) Mr. A. R. Lakshmanan

C) Mr. K..G. Balakrishnan D) Mr. Yashwant Sinha.
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98. UJereumeusorouppielr  ehs &, 2010 b e8I g;tﬁ]gp@rrl.',l.q.gueﬁﬁ ueiref)
sl L cooseien semoleouls uhldl afleurs rTLbBsE ?
A)  pud arsrrgdiew
B} pgugdl K. G. uredlEeyemrer G
C) rpéud Carallbsrmme GW
D)  FEudl Devyr gw.

Which among the followihg committees went into the details of Fees struc_turé
among schools in Tamil Nadu in 2010 ?

A) Justice Varadharajan Committee
B) Justice K. G. Balakrishnan Committee
C) Justice Govindarajan Committee

D) Justice Mishra‘'Committee,

99. 2010 b QU@ soaEi. . seaomhd sblp Gebwmd olEs WGES
SUIPBRISLILL L &I 2

A) g. . gGWTET

B) 1 ev@asr uryGumenr ( (Beiywm )

C)  Guurdlflut Hmnd). yafis MNeECareav ( AR ebr )

D) Guprdifwt grig ey, ( GwlléasT ).

In 2010 to whom, was Kalaignar M. Karunanidhi Classical Tamil Award given ?
A) A. R. Rehman

B) Aesco Pérpola { Russia )

C) Prof. Mrs. Ulric Nicolos { Britain )

D) Prof. George Hart ( America ).

100. erpg B oo oo aflos Qoudurligeae prligeas SglusL o flew erer

2miellssgi ?
A) Ol et ' B) Quemonté
C}  SoUlaiCevetor D) =Owfés padlu prEser.

Which of the following countries has declared Broadband service as the
fundamental right in the country ?

A) Britain B) Denmark

C) Finland , D) United States of America.

x (10002]
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101. Match the following phrases given in Column A with their meanings in

Column B and select the correct answer from the codes giveﬁ below :

a)
b)
¢}
d)
Codes : .
a
A 3
B) 3
) 3
D) 3

b
2 1

2

4

Column A

look after

- give away

take down
bring up

1

1 4

1

2

2.

Column B

—

grow up
distribute

-take care of

ol

make a note,

102. Match the following words given in Column A with their meanings in Column B

“and select the correct answer from the codes given below :

a)
b)
c)
d)
Codes :
a
A) 2
B 2
c) 3
D} 2

Colunin A
slackness
woods
éradicate

indignity

Column B
1. rermove
2. unworthy treatment

3.  being lazy

4, a small forest. -

301 | Tumn over
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103. Maich the following words given in Column A with their meanings in Column’'B

and select the correct answer from the codes given below :

a)
b)
c)
d)
Codes :
a
A} 3
B 3
c) 2
D 3

Column A

circumstance

initial

destiny

tutelage

1

2

3

1

4

4.

Column B
first
guidance
situation

fate.

104. Match the following words given in Column A with their meanings in Column B

and select the correcl answer from the codes given below :

a)
b)
c)
d}
Codes :
a
A) 4
B) 2
C} 3
D) 4
»|.10002 |

Column A
generate
quite

‘real
incessant
b c
1 2
1 3
4 2
1 3

LR ~ ¥

KN

—t

Column B
complete
authentic
continuous

produce.
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105. Match the following words given in Column A with their meanings in Column B

and sclect the correct answer from the codes given below :

a)
b)
c)
d)
Codes :
a
A) 3
B) 2
c) 3
Dy 4

Column A

adieu
en masse
buffet
chef

b c

4 2

3 1

2 4

2 3

1

1.

Column B
professional cook
self-serving feast
good-bye

group.

106. Choose the correct synonym for the italicized word :

Detective Sambu was fretfting over what to do, in the room.

A)

C)

considering

worrying

B)

D}

discussing

arguing.

107. Choose the correct synonym for the italicized word :

“1 don’t care who your contractor is,” yelled back the boy.

A)

C)

strengthened

showed

screamed

sensed.

108. Choose the correct synonym for the italicized word :

He searched the bag of the impostor.

A)

C)

[F1324 | {10002

traitor

. deceiver

[301]

slranger

receiver.
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109. Choose the correct synonyrn for the italicized word :
The Headmaster gave me corporal punishment.
A) physical B) safely
. C)  enjoyable D)  easy.
110. Choose the correct synonym for the ilalicized word :
Playing cricket has become a community passion.
Al way ' B}  enthusiasm
Q) style D) [fashion.
111. Choose the correct antonym for the italicized word :
He was inlerested in cricket.
A)  hatred B)  liked
C) inefficient D) uninterested.
112. Choose the correct antonym for the italicized word :
... but he was not a regular teacher.
A) temporary B)  irregular
Q) permanent ' D)  good.
113. Choose the correct antonym for the italicized word :
The teachelj tried to prompt me.
A) induce B} motivate
C) discourage D) ask,
114. Choose the correct antonym for the italicized word :
Multimedia presentations are enhanced with graphics.
A) increased B)  raised
C) multiplied D) reduced.
115. Choose the correct antonym for the italicized word :
Ravi sold his personal property.
A} individual "~ B) public
C) perusal D) worthy.
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116. Select the word with correct prefix :
A)  antimodest | B) premodest
C) immo.dest D) remodest,
117. Select the word with correct prefix :
A) enhappy . B) dishappy
. Cj unﬁappy D)  imhappy.
118. Select the word with correct prefix :
A) undetail B) redetall
C)  misdetatl | D) non-detail.
119. Select the word with correct suffix :
A)  teakhood B) boyhood
C) snakehood D) stonehood.
120. Select the word with correct suffix :
A) passionate : | B) passionly
C) passionable - D) passionsome. |
121. Fill in the blank with the suitable article : o
Smt. Pratibha Devisingh Patil is ................... ..... first citizen of our country.
A) an B) a _
C) the D}  no article.
122. Fill in the blank with the suitable article : |
I sawahuge cobra'..................... hour back in the park.
A) no article B) the
C) a D) an.
123. Fill in the blank with the suitable article :
ITwent to ...c..coovinvinnnnns university to collect my certificates.
A) a B) an
C) the D} no article.
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124. Fill in the blank with the suitable article :

Rajivis ..o, tallest boy in the class.
A) an B) a
C) the D) no article.

125. Fill in the blank with the suitable article :

She brought ...........ccvevvrnn. X-ray report.
A) an B) a
C) one D) no article. .

126. Fill in the blank with the suitable preposition :

........................ Ford, he has a Maruti car.
Al Beside B} Besides
] With D) Between.,

127. Fill in the blank with the suitable preposition :

Nobody .....coovviviiiniiininns you knows the truth.
A) in B) among
C) between D) from.

128. Fill in the blank with the suitable preposition :

Many fruils are ...........cooeveiinnis the tree.
A) on B) above
C) front D) into.

129. Fill in the blank with the suitable preposition :

I have been walling ..o, 10 A M.
A) for B) since
C) over D) at.

130. Fill in the blank with the suitable preposition :

My brother slept ...l 10 O’clock.
A) in B) over
C) between D) till.

« [ 10002
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i 131. Select the correct question tag :
: You will not follow the same methods, ......cc..occcunnnni. ?
: Al  won't you B) will you
j; C) doyou D) don't you.
!‘ 132. Select the correct question tag :
¢ All the students need not be doctors and computer engineers, T ?
A) are they _ B) aren’t they
C)  needn't they D) need they.
; 133, Select the correct questiori tag :
? Wait a minute, .................. ?
A) don't you B) do you
i C) canyou 'D) didn't you.
' . 134. Select the correct question tag :
; Gopi broke the glass, .........ocoein ?
: > A) won't he B) hadn't he
5 i C) didn’t he D) doesn’t he.
I.l 135, Select the correct question tag :
% ' Your sister cooks well, ............ ?
!l ‘ A) is she B) isn't she
;% C) does she D} doesn’t she.
E ' 136. Select the correct tense :
‘i They «ovviiiiieens playing since four O'clock.
! . A) were B) have been
| : C) was ' ' D) had.
\ - 137. Select the correct tense :
She jumped off the bus while it ........................ .
A) move B) was moving

16002 O (Tumover
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138. Select the correct tense form of the verb given in brackets :

She ovveriviinnn, ( write ) her exam last week.
A) writing B) had written
C) wrote ' D)', would write,

139. Select the correct tense

If you had started the work earlier, you ........................ it faster.
A) will have finished B) would have finished
C)  had finished - D)  have finished.

.140. Select the correct tense :
Hurry up ! The programme ..................... :
A) will start B)  would start
C) is about tb start D) starts.

141. Select the correct voice :

The machines ..........ocooveinnin, at 7-30 everyday.
- A) switch on B) are switchec_l on
C) switches on - D) = switched.

142. Select the correct voice :
The flowers ............ovivvnns .
A) throw away B)  throws away
C) -have been thrown away D)  threw away.

-143. Fill in the blanks with the correct voice :

Those who .................. really ........cooveninis will achieve success.
A) is, talented B) am, talented
C) are, talented D)  were, talented.
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144. Fill in the blank with the correct voice :
He oo, . by a dog
A) have been bitten B) are bitten
C)  will bite . D)  was bitten.
145. Select the correct voice of the verb from the options gtven :
The picture .........ccoeeeene. by Seetha.
A) have been painted B} - has been painted
) C) are painted D) _ is painting.
146. Fill in the blank with the suitable infinitive :
e is human.
A)  Erring B) Err
C) To err D} To be erred.
147. Fill in the blank with the suitable infinitive :
He was not kind enough ............. e . A
A) helping B} | o help
0 help D)  tobe helped.
148. Fill in the blank with the suitable participle :
..................... dogs seldom bite.
A) Bark B} To bark
C) To be barking D) Barking,
149. Fill in the blank with the suitable gerund 3
e, maketh a man.
A) Reads B) Reading
C) To read D) Read.
150. Fﬂl in the blank with the suitable participle :
While ....c.ooiiviiennnne. the bus, he slipped.
A) was boarding B) boarded
C) boarding D) board.
151, Identify the sentence pattern : '
The boys are playing hockey.
A) SVA ’ B) SVO
C) SsvoC D) SVOI10DO.
X _ ] Turn over
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152. ldentify the sentence pattern :
My father bought a new TV,
A) SVOC B)
)  SvO D}
153. ldentify the sentence pattern :
She made him a fool.
A} SVOC . B)
C)  SVOoA D)
154. Identify the sentence pattern :
My father presented me a computer.
A) SVOC : B)
C} SVIODO D)
155. Identify the sentence pattern :
My mom gave me a piece of cake.
A) SV 10 DO B)
C) SVOCA D)
156. Change the following noun into verb form :
Confusion |
A)  confess B}
C) Lo confuse D)
157. Change the following verb into noun form :
Calculale
N calculaling B)
C) calculation D)
158. Change the following verb into noun form :
Inform
A) informing ' B)
Q) information )
<1 10002 | (301

svC
SV 10 DO.

SV I0 DO
SVCA.

SVO
SVC.

SVOAA
SVCA.,

confuse

confusing.

calculated

calculus.

informed

informative,
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159.

160.

161.
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163.

164.

165.
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Change the following adjective into adverb form :

Smooth
- A) smoolhness ‘ B)  smoothly
C) smoothy D) . smoothful.

Change the following adjective into adverb form :

Active
Al actively B) activism
C) activate D}  activity.

Fill in the blank with a suitable homophone :

The examinations .............coevvvunne. over,
A) - ware B) wear
C) were D) war.

Fill in the blank with a suitable homophone :

He entertained his guest at .........oceveni. .

"A)  knight B) night

C) knit D} nit.

Fill in the blank with a suitable homophone :

Shé ..................... the toy out of the window,
A) through : B) throw
C} threw D)  thorough.

Fill in the blank with a suitable homophone :

Noone .........coccveee what is wrong.
A) knows B) nos
C) nose - D) knew.

Fill in the blank with a suitable homophone :

We . gold medal in the match.
A} one B) own
. Q) won D} wins.
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166. Comprehension :

Tenali Raman was a clown in King Krishnadevaraya's Court. The king liked
Raman for his quick wit and sense of humour. The others in the court were very
jealous of the king's love for Raman.

Why were the other courtiers jealous of him ?

A) Slow in thinking |

B) Quick in wit

C Quick in wit and sense of humour

D) Quick in action and sense of humour.
167. Comprehension :

The mother of a boy of ten came to Prophet Mohammed. She requested him to
advisc her son not to take loo many sweets. The Prophet asked her to come after
a week with her boy.

Who had come to sec Prophct Mohammed ?
A) Mother of a boy of eleven B) Mother of a boy of seven
C)  Mother of a boy of ten " D) Motherofa boy of nine.

168. Comprehension :

To the children all over India Jawaharlal Nehru is known as ‘Chacha Nehru'. His
birthday 14th November is celebrated as ‘Children’s Day’.

Children's day is celebrated on

A) 1si Novernber B) 4th November

C) 14th November . D) 5th November.
169. Comprehension :

Light entering the eye is received by the lens which focuses the light onto the
retina. In some people, especiaﬂy the elderly, the lens starts clouding. Nobody
really knows why, and starts losing its transparency. Finally. it becomes so
dense, that no light can pass through it and the person cannot see at all with
that age. This disorder is called the cataract.

What happens (o elderly people ?
A) The lens becomes thick B) The lens becomes infected

C)  The lens loses transparency D} The lens becomes weak and thin.

<[ 10002 [301]
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170. Comprchension :

171.

172.

173.

174,

175.

176.

177,

More industiries means more environmental pollution. Industrial wastes and
tannery cffluents pollute all major rivers. Domestic sewage mixes with drinking
waler.

Domestic sewage mixes with drinking water causing

A) water pollution B) 7land pollution

C noise pollution D} air pollution.

Select the correct sentence”

Al Growing old.is inevitable B) Growing old are inevitable -
C}  Growing 6ld were inevitable D)  Growing old will inevitable.
Select the correct sentence : '

A) You dare not feel sorry for what you have done

B)  You will not feel sorry for what you have done

C)  You cannot feel sorry for what you have done

D) You need not feel sorry for what you have done.

Select the correcit sentence : |

A)  The earth is bigger to moon B) The earth is bigger than moon
C) | The earth is biégest to moon D)  Earth is bigger than moon.
Select the correct sentence :

A) By who grammar was taught ? B} By whom grammar taught ?
C)  Who taught you grammar ? D) = By whose were grammar taught ?
Select ‘thc correct sentence :

A) We must leave yesterday B) We must leave ‘

C)  We shall have to leave yesterday D) We should leave yesterday.

Find oul the error :

A B C ) D

Find out the error :

The police went for the criminals
A B C D
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179.

180.

181.

182.

183.

184.

185.

186.

187.

Find out the error :

46

He is aM.P. from our constituency

A B C D

Find out the error :

Australia is the larger Island
A B C

Find out the error:

D

Physics are my favourite subject *

A B C
F‘i_nd the odd word ( Verb ) :
A) inspiration
C) inspirably
Find the odd word ( Adverb ) :
A) adventure
C) adventurous
Find the odd word ( Adverb ) :
A) air
C) airily
Find the odd word ( Noun } :
A) recover
C) recoverable
Find the odd word { Adverb ) :
A) firm

C) firmness

No error

B)
D}

B)
D)

B}
D}

B)
D)

B)
D)

inspirable

inspire.

adventurously

adventuring.

airbus
airing.

recovery

recovered.

firmly
firmament,

Select the correct plural form for the given word :

- Luggage
A) luggage
Cl} luggagies

B)
D)

luggages
luggagis.

Select the correct plural form for the given word :

Baby
A) babys
C) babies

([ 1060z
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B)
D)

babis

babyses.
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Select the correct plural form for the given word :
Knife _
A) knives B) knifes
C) knifess | D) knifis.
Select the correct plural form for the given word :
Sheep
A) sheepé B) sheep
C} sheepps D) sheepes.

Select the correct plural form for the given word :

Gooée
A) gooses B} goosis
C) geese 9)] geeses.

Identify the Compound sentence :

A I was poor but contented

192.

193.

194.

B) I am cerlain that you made a mistake

C) We eat so thal we may live

D) Being poor | cannot donate anything.
Identify the Complex sentence :

A} Though he was lazy. he scored high marks
B)  Because of his illness he was absent

C)  After taking his meals he slarted to take rest
D)  He ploughed the ficld carly but he will not have a good harvest.
Identify the Comple;( sentence :

A) As Sumathi is blind, the dog is leading her
B) Sumaithi being blind, the dog is leading her
C) Being blind. Sumathi is led by her dog

) Sumathi is blind and the dog is lcading her.
Identify the Simple sentence :

A) Tell me why you did this

B)  No one knows who he is

C) I heard of his success

D}  The sun rose and the fog disappeared.
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195. Identify the Simple sentence :

A) He works hard in order to pass

B) He works hard so that he will pass

Q) He works hard and so he will pass

D) He works hard and he will pass.
196. Identify the degree :

Sita is one of the cleverest girls in the class.

A) Superlative degree B) Comparative degree

C)’ Positive degree D)  None of these,
197. ldentify the ciegree :

No other tree is so useful as the coconut tree.

A) Positive degree B} Supérlative degree

C) Comparative degree D) None of these,
198. Identify the Superlative degree :

A) Gandhiji is greater than all the leaders

B)  Gandhiji is the greatest of all the leaders

C) Kasturbai was not so great as Gandhiji

D} No other leader is as great as Gandhiji.
' 199. Identify the degree :

- The earth is bigger than the moon.

A) Comparative degree B} Positive degree

Q) Superlative degree D)  None of these.
200. Identify the degree :

It is beller 1o starve than to beg.

A) Comparaltive degree B)  Positive degree

C)  Superlative degree D) None of these.
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